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1. What is the internal volume of a subwoofer enclosure with
dimensions of H= 18.5", W= 15", and D= 27" using 3/4" thick
material?
A. 2.5 cubic feet
B. 3.38 cubic feet
C. 4.2 cubic feet
D. 5.0 cubic feet

2. If a subwoofer enclosure has a net internal volume of 1.75
cubic feet, how many liters is that approximately?
A. 25.4
B. 49.56
C. 60.0
D. 70.2

3. In which type of vehicle will you find vacuum door lock
systems?
A. Mercedes Benz
B. Ford
C. Nissan
D. Honda

4. When ISO-DIN mounting an in-dash source unit, what is
usually necessary for proper mounting?
A. The factory mounting brackets
B. Custom mounting plates
C. Additional screws and bolts
D. Aftermarket brackets

5. In Bluetooth pairing, what is a common default PIN code
reported by Technician B?
A. 1234
B. 1010
C. 0000
D. 5678
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6. What is the main purpose of resistors in aftermarket
mobile audio systems?
A. Regulate voltage levels
B. Act as a switch
C. Oppose current flow
D. Increase signal strength

7. Which measurement scale on a DMM is most accurate for
testing potential difference under load?
A. AC Volts
B. DC Volts
C. Ohms
D. Continuity

8. In which type of passenger car will you find electrically
separate parking light circuits?
A. BMW
B. Audi
C. Mercedes Benz
D. Toyota

9. Vehicles that operate on RGsB will be from which
production years?
A. 2000-2004
B. 2002-2005
C. 2001-2003
D. 2003-2006

10. What is the nominal impedance of subwoofers wired in
parallel as described?
A. 4 Ohms
B. 2 Ohms
C. 8 Ohms
D. 6 Ohms
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Answers

5Sample study guide. Visit https://mecpadvanced.examzify.com for the full version

SA
M

PLE



1. B
2. B
3. A
4. A
5. C
6. C
7. B
8. C
9. B
10. B
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Explanations
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1. What is the internal volume of a subwoofer enclosure with
dimensions of H= 18.5", W= 15", and D= 27" using 3/4" thick
material?
A. 2.5 cubic feet
B. 3.38 cubic feet
C. 4.2 cubic feet
D. 5.0 cubic feet

To determine the internal volume of a subwoofer enclosure given the exterior dimensions
and the thickness of the material, it's essential to first calculate the internal dimensions
by accounting for the thickness of the material on each side of the enclosure.  In this
case, the exterior dimensions are: - Height (H) = 18.5 inches - Width (W) = 15 inches -
Depth (D) = 27 inches  Since the material is 3/4" thick, it will affect the internal
dimensions as follows: 1. For height, the material thickness will reduce the total height
twice (once for the top and once for the bottom). So the internal height will be:    Internal
Height = H - (2 * 0.75") = 18.5" - 1.5" = 17.0"  2. For width, applying the same logic:   
Internal Width = W - (2 * 0.75") = 15" - 1.5" = 13.5"  3. Lastly, for depth:    Internal
Depth = D - (2 * 0.75") = 27" - 1.5" = 25.5"  Now, to find

2. If a subwoofer enclosure has a net internal volume of 1.75
cubic feet, how many liters is that approximately?
A. 25.4
B. 49.56
C. 60.0
D. 70.2

To convert cubic feet to liters, it is important to understand the conversion factor
between these two units. One cubic foot is equivalent to approximately 28.3168 liters. To
find the volume in liters for an enclosure that has a net internal volume of 1.75 cubic
feet, you multiply the cubic feet by the conversion factor:  1.75 cubic feet × 28.3168
liters/cubic foot ≈ 49.56 liters.  This calculation shows that the net internal volume of the
subwoofer enclosure, when correctly converted, results in approximately 49.56 liters.
This matches the selection in the answer provided, demonstrating that the conversion
was executed accurately according to the appropriate mathematical principles.
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3. In which type of vehicle will you find vacuum door lock
systems?
A. Mercedes Benz
B. Ford
C. Nissan
D. Honda

Vacuum door lock systems are typically found in older European luxury vehicles, such as
those produced by Mercedes Benz. This design utilizes a vacuum source, often derived
from the engine’s intake manifold, to operate the door locks. When the system is
activated, it creates a vacuum that pulls the locking mechanism to unlock or lock the
doors.  This technology is less common in vehicles from brands like Ford, Nissan, or
Honda, which tend to use electronic or solenoid-based locking mechanisms.
Understanding the specific application of vacuum systems in Mercedes Benz vehicles is
critical, as it reflects their engineering designs from previous decades, emphasizing
features like centralized locking using vacuum pressure.

4. When ISO-DIN mounting an in-dash source unit, what is
usually necessary for proper mounting?
A. The factory mounting brackets
B. Custom mounting plates
C. Additional screws and bolts
D. Aftermarket brackets

When ISO-DIN mounting an in-dash source unit, using the factory mounting brackets is
usually necessary for proper mounting. These brackets are specifically designed to fit the
vehicle’s existing dash configuration, which ensures a secure and stable installation of
the source unit. The use of factory brackets helps to align the unit properly within the
dash cutout, minimizing issues with vibration or misalignment that could affect the
unit’s performance or damage the installation.  By utilizing factory brackets, the
integrity of the dashboard is maintained, and it ensures compliance with the original
equipment manufacturer's specifications, which is vital for aesthetics and functionality.
Custom mounting plates or aftermarket brackets may not always fit the vehicle’s specific
design as well as factory mounts, and additional screws or bolts may not provide the
secure fit that is essential for this type of installation. Therefore, reliance on the existing
factory brackets is often the most effective approach for achieving a professional-grade
installation.
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5. In Bluetooth pairing, what is a common default PIN code
reported by Technician B?
A. 1234
B. 1010
C. 0000
D. 5678

In Bluetooth pairing, a common default PIN code that many devices use is 0000. This PIN
has become widely recognized and is often employed by various manufacturers as a
default for setting up Bluetooth connections. The simplicity of using four zeros makes it
easy for users to remember and enter, facilitating the pairing process between devices.
It's essential to note that many devices will request this PIN during the initial pairing
phase, as it serves as a basic security measure to ensure that both devices confirm their
willingness to connect.   Other commonly used default PIN codes, while they may appear
in some devices, are less universally recognized, which is why 0000 is often referenced as
the standard in many technical discussions and documentation regarding Bluetooth
technology. This makes it practical for technicians and users to be aware of as they
troubleshoot or set up Bluetooth connections.

6. What is the main purpose of resistors in aftermarket
mobile audio systems?
A. Regulate voltage levels
B. Act as a switch
C. Oppose current flow
D. Increase signal strength

In aftermarket mobile audio systems, resistors serve the important function of opposing
current flow. This opposition to current allows for precise control of the electrical
characteristics within the circuit, which can be critical for achieving optimal
performance in audio applications. By limiting the amount of current that flows through
particular pathways, resistors can help to manage power levels and maintain appropriate
voltage across various components.   In mobile audio installations, this can enhance
sound quality by ensuring that amplifiers and speakers operate within their designed
parameters, preventing distortion and damage. Additionally, resistors can help to balance
signals or protect sensitive components from excessive current that could lead to failure. 
Other options, while they may seemingly relate to electrical systems, do not capture the
primary role of resistors as effectively. For instance, while resistors can influence voltage
in a circuit, their main purpose is not to regulate voltage levels directly. Similarly,
resistors are not used as switches, which are components specifically designed to
interrupt or redirect current. Lastly, resistors do not increase signal strength; their role
is more about managing and controlling current rather than amplifying signals. This
specific function of opposing current flow is what makes resistors fundamental
components in designing and repairing mobile audio systems.
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7. Which measurement scale on a DMM is most accurate for
testing potential difference under load?
A. AC Volts
B. DC Volts
C. Ohms
D. Continuity

The most accurate measurement scale on a digital multimeter (DMM) for testing
potential difference under load is the DC Volts scale. This is because DC voltage
measurement is specifically designed to accurately gauge the voltage level of a direct
current circuit while it is operational and under load conditions.   When measuring
potential difference in a circuit, especially in automotive or mobile electronics
applications, it's essential to ensure the meter measures the voltage while the circuit
components are functioning. The DC Volts setting allows the meter to account for the
behavior of the system's voltage – including slight drops caused by resistance under load
– providing a more accurate representation of how much voltage is actually available to
the components in real-world conditions.  Other settings, like AC Volts, are used for
alternating current circuits, which are not applicable in straight DC systems. The Ohms
setting is utilized for measuring resistance rather than voltage, and the Continuity
setting checks if a circuit is complete, which does not provide a measurement of
potential difference. Therefore, the DC Volts scale is specifically tailored for effectively
measuring voltage and ensuring accurate readings in a live circuit.

8. In which type of passenger car will you find electrically
separate parking light circuits?
A. BMW
B. Audi
C. Mercedes Benz
D. Toyota

In many modern passenger vehicles, including luxury brands, the design of the electrical
systems is often influenced by specific requirements and features that enhance user
experience and safety. Mercedes Benz is known for its advanced engineering and
integration of technology within its vehicles, one aspect of which includes the design of
the lighting system.  Electric parking light circuits that are electrically separate allow for
the vehicle's parking lights to function independently from other lighting systems. This
feature enhances visibility when the vehicle is parked, and it can be particularly
beneficial in situations where the car needs to be seen at night or in low-light conditions
without requiring the full headlight system to be engaged.  While other manufacturers,
such as BMW, Audi, and Toyota, may have advanced features in their vehicles, Mercedes
Benz specifically stands out in this context because its models frequently include
sophisticated electrical systems that are designed to operate parking lights in a manner
that prioritizes safety and functionality. Therefore, identifying Mercedes Benz as the
correct answer reflects an understanding of how different manufacturers design their
electrical systems and the specific characteristics that distinguish them.
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9. Vehicles that operate on RGsB will be from which
production years?
A. 2000-2004
B. 2002-2005
C. 2001-2003
D. 2003-2006

Vehicles that operate on RGsB (Reduced Greenhouse gas System, a video signal format)
were primarily produced from 2002 to 2005. This timeframe highlights the introduction
and adoption of RGsB technology in automotive applications, particularly with the shift
in vehicle infotainment systems that began to include advanced video functionalities
during this period.   The years 2002 to 2005 mark a significant point in technological
development, where manufacturers began integrating more sophisticated display and
multimedia systems to enhance the driving experience, aligning with the RGsB format's
capabilities. This correct choice encapsulates the pivotal years when RGsB was prevalent
in vehicle systems, making it the accurate answer.   Other options either extend beyond
this range or begin too early, resulting in dates that do not correlate with when RGsB
technology was implemented into vehicles.

10. What is the nominal impedance of subwoofers wired in
parallel as described?
A. 4 Ohms
B. 2 Ohms
C. 8 Ohms
D. 6 Ohms

When subwoofers are wired in parallel, the combined nominal impedance can be
calculated using the formula for parallel resistors. The formula is:  1 / Z_total = 1 / Z1 + 1
/ Z2 + ... + 1 / Zn  If you consider two subwoofers, both with a nominal impedance of 4
Ohms, the calculation would be:  1 / Z_total = 1 / 4 + 1 / 4  1 / Z_total = 2 / 4  1 / Z_total =
1 / 2   Therefore, Z_total = 2 Ohms.   This process shows that when you wire subwoofers
in parallel, the total impedance decreases compared to the impedance of each individual
subwoofer, leading to a 2 Ohm total impedance when two 4 Ohm subwoofers are
connected in parallel.   Choosing the option indicating 2 Ohms is accurate based on this
parallel wiring calculation.
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